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QUESTION 1

A server administrator is selecting hardware for a new backup server. Disk capacity is the most important requirement
for the server. Which of the following drive interface types BEST meets this need?

A. USB
B. SATA
C. ScCsli
D.FC

Correct Answer: B

QUESTION 2

An administrator is developing a storage growth plan for a new file server. Which of the following should be
implemented on the server so that storage growth is restricted?

A. Disk quotas

B. Disk compression

C. Automatic usage reports
D. Automatic defragmentation

Correct Answer: A

QUESTION 3

A new version of the primary OS used by a company has been released. Due to some significant changes in the OS, a
system administrator wants to see which remotely accessible services are enabled by default to access the security risk
prior to upgrading to the new version. Which of the following utilities should the administrator use?

A. Cipher program

B. Port scanner

C. Telnet client

D. Packet sniffer

Correct Answer: B

QUESTION 4

A technician is tasked with creating servers that are fault tolerant and highly available. Which of the following would be
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the BEST solution for this task?
A. Load balancing

B. Virtualization

C. Clustering

D. Round robin

Correct Answer: C

QUESTION 5

A technician is setting up a server with a RAID 1 array for the boot partition and a RAID 5 array for the data partition.
Which of the following is the MINIMUM number of disks needed to implement these partitions?

A. 4
B.5
C.6
D.7

Correct Answer: B
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